Addai4

LUCKNOW METRO RAIL CORPORATION LIMITED

Notations:
l.OptiOﬂS shomwl in greer color and with % icon are correct.

2 .Options shown in red color and with % icon are incorrect.

Question Paper Name: EOQ1 Assistant Manager Civil 13TH May 2018 Shift2

Subject Name: EO01 Assistant Manager (Civil)
Creation Date: 2018-05-13 17:52:41
Duration: 120

Total Marks: 140

Display Marks: Yes

Calculator: None

Magnifying Glass Required?: No

Ruler Required?: No

Eraser Required?: No

Scratch Pad Required?: No

Rough Sketch/Notepad Required?: No

Protractor Required?: No

E01 Assistant ManageriZivil)

Group Number : 1
Group Id: 72462210
Group Maximum Duration : 0
Group Minimum Duration : 120
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 140
Technical
Section Id : 72462246
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: Q0
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 72462246
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 7246221261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical


Admin
Stamp


Correct : 1 Wrong: 0.33
Basic principles of survey are:

A Working from the whole to the part.

B. Measuring before construction.

C. Measuring and calculating land availability.

D. Fixing a point in relation to the points already located.

Which of these statements is/are true?
Options:

> % AandB
5 % B.CandD

4« AandD
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One of the basic principles of survey is fixing a point in relation to the points already located. The two measurements
from the located points can consist which of the following:

Two lines

A line and an angle

Two angles

An elevation and an angle
Two elevations

monme

Options:
1 % AandE

, ¢ ABandC
, % B.CandD

4 % AandD
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In a photogrammetric survey. three points A, B and C were photographed. Their coordinates with respect to the lines
joining the collimation marks that are photographed from point O are:

Point X v

A -35.52 mm 21.43 mm

B 848 mm -16.38 mm
48.26 mm 36.72 mm

The focal length of lens is 120.8 mm. If the azimuth of OA is 354 ° 30, then the azimuth of OB is:
Options:
1 o 14°53°

> ® 32°40°
= % 653

4 % 21°47
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| v 14°53
o % 32°40
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Different types of errors are given below:

Natural error
Gross error
Systematic error
Random error

o owp

Which of these errors represent the errors in surveying?

Options:
1 % AandD

, % A.BandC
2 ¢ B.CandD

4 % AandC
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In levelling, the correction for curvature (C,) is given by (where D is the distance and R is the radius of the Earth):

Options:
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i il . z 3 .
In curves, 2Rsin S represents the length of: (where, R is radius of curve, 4 is deflection angle.)

Options:
w langent

1.
> % Apex distance

=z % Mid-ordinate

4 « Long chord
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Which of these actually represent(s) self-reading levelling staff?

A Solid staff
B. Telescopic staff
C. Folded staff
D. Target staff
Options:
; » Aonly

> v ABandC
; % B.CandD

4 = Donly
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Which of the following is/are not basic triangulation figure(s)?

"N
=
]
59
Options:
; » Aonly

> v ABandD
2 % B.CandD

4 s Donly
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Aerial surveying consists of four phases. Select the option that represents their correct order.

Options:
. Advance planning, photography. ground control, compilation

- u Advance planning, ground control. photography. compilation

- » Ground control, photography, compilation. advance planning

4, % Ground control, compilation, photography. advance planning
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To enhance the accuracy of the measurement. which of the following points is important when
selecting a site for a base line?

Options:
, % Site should be as away as possible from satellite points.

-  The ground should be free from obstacles.
- % [Ihe ground should be free from sunlight.

4, % The ground should be of a uniform gradient to all sides from centre.
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In network techniques of construction management, optimistic time, pessimistic time and likely time are the types of
time estimates under which of the following?

Options:
. % CPM

> # Activity
=  PERT

4 % Event
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Calculate the expected time for the given activity, where t,=22 days, ;=30 days, t,=50 days.

Options:
] .
| 32 days

> % 34 days
5 w 306 days

4 % 12days
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Which of the following is not a property of coniferous trees?

Options:

| « They are heavy

- % They arelight in colour
5 » Annual rings are seen distinctly

4 % The structure is resinous
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A thin layer of fresh sap lying between sap wood and inner bark is:

Options:



1 # Heart wood
o R Pith
5 % Outer bark

4  Cambium layer
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Which of the following is not a method of seasoning timber artificially?
Options:

, w Kiln seasoning

o  Water seasoning

5 » Chemical seasoning

, w Electrical seasoning
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As per IS 456, the maximum free water cement ratio for M25 concrete in RCC work is:

Options:
L # 0.55

> % 0.45
5 o 0.5

4 B 0.6
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A force equal in magnitude, opposite in direction and collinear with the resultant is known as:
Options:

1 # Resolution of force

-  Equilibrant force

- % Reaction



4 # Non collinear force
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Which of the following is not a type of friction?
Options:

Static friction

®

i,

.

> « Ladder friction

Fluid friction

L
"

, » Rolling friction
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According to the Newton’s law of motion. force (F) is:
Options:

1.4 Proportional to mass X acceleration

> w Inversely proportional to mass X acceleration
- » Proportional to mass / acceleration

4 w Inversely proportional to mass / acceleration
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The maximum stress to which any member is designed is much less than the nltimate stress. This stress is called as:

Options:
1 % Limit stress
o o Working stress

= % Nominal stress

4 % True stress
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Calculate the maximum factored bending moment of rectangular beam for an effective span of 6 m. The superimposed
load is 84 KIN/m. The dimensions of the beam are limited to 35.5 cm X 75 ¢cm overall. Use M>g and F.415 grade density

of concrete is 25kKN/m".
Options:
1 « 612 KN-m

5> % 620 kKN-m
5 % 630 kKN-m

4 % 600 kKN-m
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|« 612 kN-m
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Calculate the size of the column square in cross-section to carry an axial load of 2100 kN. Use grade of steel Fe415 &
grade of concrete of M» grade:

Options:
1 % 565.4 mm

-~ % 576.2mm
= « 556.8 mm

4 % 560.8 mm
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Options:

1 % 565.4 mm

> % 576.2 mm
z « D5B6.8 mm

4 % 560.8 mm
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In a slope deflection method, the Final Fixed end Moment at A in a typical member AB consists of:

The fixed end moment at A
Moment due to the rotation © of A only

Moment due to the rotation ©g of B only

g awp

Moments due to deflections A at A and Ap at B

Which of these are true?
Options:

, » A Bonly

5 of A B.CandD

5 % A, Donly



, % B.CandD
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In moment distribution method, the distribution factor at any point can be calculated by, using which of following
expression; where, k is stiffness of the member, M is moment in member due to loads.

Options:

1 « KIk

> w &IK)X M
, x (M) X Tk
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Tensile stress and compressive stress are the examples of:

Options:
1 % Shear stress

> o Direct stress
- » DBending stress

4 % Twisting stress
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In a stress-strain diagram of a ductile member. the straight line where extension is proportional to the load is termed as:

Options:



, « Line of proportionality

- u Perfectly plastic

= % Elastic limit

4 % Yield point
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When both the support ends of column are hinged. buckled shape is possible only at the critical load (Pg) of:

Options:
ATI%E]
1. ® LE

MM2EI
SR ] 4L2

M2EI
3« L7

2I1%E]
4% L7
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A propped cantilever beam of span L and constant plastic moment capacity M, carries a concentrated load at the
midpoint. Then the load at collapse point will be:

Options:
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If the diameter of a bolt is 20 mm, then the maximum number of bolt(s) that can be accommeodated in one row in a
140 mm wide flat section is (are):

Options:

1.¢ 2

2_-&33
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For reversal of stress. the most suited bolt is:

Options:
1 % Black



> % Turned

- « Friction grip

4 % Ordinary
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
The slenderness ratio of lacing flats is limited to:

Options:
1 ® 350

5 o 145

s % 180

Question Number : 31 Question Id : 7246221291 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
ATETT FAITH T Tl 9T bl % WA & 87

Options:

, % 350

> « 145



s % 180

. % 250

Question Number : 32 Question Id : 7246221292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
A beam section is classed as low shear case when the factored shear force is less than:

Options:
. w 0.4Vy

> ¢ 0.6Vy
. x 08V

4 % T“'"d

Question Number : 32 Question Id : 7246221292 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
T SH FE & e 3R 5 (A o Fa) i A AT §, 5w wfta swqor a4
T F g g

Options:

% 04 Vg
.o 08 Vi

. x 0.8 Vy

4% Vd

Question Number : 33 Question Id : 7246221293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
As per IS 456-2000 standard, the average permissible bond stress () for plain bars in M25 grade of concrete is:

Options:
1 ® 0.8

>« 09

z ® 1.0



4 ® 1.1

Question Number : 33 Question Id : 7246221293 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
IS 456-2000 AFF F AN, M25 35 Fhie A woidt IR (Hee T & e sitea sgag ey
gigad (tbd) Thgar grem?

Options:

Question Number : 34 Question Id : 7246221294 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
In a continuous beam, the moment coefficient of the innermost support for the dead load is:

Options:
1« 1112
> % 1/10

s % 1/9

4 % 1724

Question Number : 34 Question Id : 7246221294 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
U Had S1F H 3 #R & [0 HaRaH AU 1 HTEOT 0TS e grem?

Options:

L@ 112
o % 1/10
2 % 1/9

L% 1/24



Question Number : 35 Question Id : 7246221295 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
As per IS 1343-1980, to calculate the ultimate creep strain, the value of creep coefficient for 28 days is:

Options:
1 ® 22

e 1.6
T B 1.0

4 B 0.8

Question Number : 35 Question Id : 7246221295 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

IS 1343-1980 % 3[@R, A a0 Rgfa (3edde $19 T=) F 7o & & w28 &7 & B
forgdor e @ A feaer g =nfee?

Options:

Question Number : 36 Question Id : 7246221296 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
As per IS 456-2000, what should be the value of Xy / d for £, 415 steel?

Options:
1 v 0.48

> % 0.53
s % 0.46

4 % 0.44

Question Number : 36 Question Id : 7246221296 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

IS 456-2000 & HFAR, fo 415 T F T x40/ d e 2XT T0RT?

Options:



, » 0.48
. % 0.53
- = 048

L% 044

Question Number : 37 Question Id : 7246221297 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Which of the following is a type of mechanical gauge used for measuring the pressure of fluids in pipe flow?

Options:
1 % Piezometer

> % U tube manometer

- % Single column manometer

4 « DBourdon tube pressure gauge

Question Number : 37 Question Id : 7246221297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
UEY Jag H ol UG & a1 & AA & ov AEafead § § #i9 @ Tf s 9= F 39T
e Smar 22

Options:

1¢3tﬁm

L« U TF FHAAR

, o 5 T 9N A

Question Number : 38 Question Id : 7246221298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
In hydraulic coefficients, the coefficient of velocity (C,) is given by: (where x and y are horizontal and vertical
coordinates.)

Options:



8
- g
e

2 % V4H

4x

)
%
H T
my

:

4 il

Question Number : 38 Question Id : 7246221298 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

gISSITerR 0T &, 397 &7 Ao (C,) FEAterad § F W g2 S 87
(ST x 3T y &fa= v swag &= @ §)

Options:
J.l'

B> B

J.l'
4x

1
5

H j
o

4yH

:

4 ¢

Question Number : 39 Question Id : 7246221299 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
The coefficient of discharge (Cy4) for internal mouthpiece, which is running full, is:

Options:
1 % 0.855
5  0.707

2 ® 0.5



Question Number : 39 Question Id : 7246221299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
qOT T F T @ HANF Heao (FEEE) & fow s s (Cq) e geme

Options:

; = 0.855
- « 0.707

Question Number : 40 Question Id : 7246221300 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
In a friction loss in pipe flow. the expression for coefficient of friction (f) in terms of shear stress is:

Options:
To

1 = sz

2T,
o ® Ve

Foq o
3 v PV?

4 PV

Question Number : 40 Question Id : 7246221300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

9ISY aTg H °€UT gifer A, 3IwTor Sfdeer & & A G6UT UM () H U FAT grAN?

Options:
Ty

1 = pVZ

215
o W 72



Question Number : 41 Question Id : 7246221301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Chezy’s formula for velocity (V). considering loss of head due to friction in pipes. is:

Options:

| ¢ V=C+/mi
o x V=Cmyi
3 & V=Cvm

4% V=Cvi

Question Number : 41 Question Id : 7246221301 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

9T F wdUT & FROT 8T @ R R A U AT (V) F A€ AW (Chezy) F1 Blden 4 gEm?

Options:

[ v V=Cymi
ox V=Cmi
2% V=Cym
4 % V = Cyi

Question Number : 42 Question Id : 7246221302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The line that gives the sum of pressure head, datum head and kinetic head of a flowing fluid in a pipe with respect to
some reference line is called:

Options:

| « Total energy line

-~ % Hydraulic gradient line



= % Total head line

4 % Pressure line

Question Number : 42 Question Id : 7246221302 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
TE W1, S FO H@ed @ F §aY A RET 989 H 9@d A F W g5, 3TA g3 AN FEaAleH 3 &
T FT S979T 8, 35 FIT FeT T 27

Options:

FoT FaAT @T

i,

Fol g5 asa (2 T@m)

z R 2

4 mw

Question Number : 43 Question Id : 7246221303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33
: ; 2L S s
If time taken (T) to close the valve 1s less than oy then the valve closure is said to be:

Options:
1 « Sudden

> % Gradual

- u Leakage

4 % Water tight

Question Number : 43 Question Id : 7246221303 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

A arem W€ X & AT o 7 @A (1), = @ F37 § A aed Fellal F FAT FE AC?

Options:
1« 3=leAh

> % hIH®
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Question Number : 44 Question Id : 7246221304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
If the Reynold number is more than 5 X 10°, the boundary layer is called as:

Options:
,  Laminar boundary layer

- u lurbulent boundary layer
5 » Newtonian boundary layer

4, % ldeal boundary layer

Question Number : 44 Question Id : 7246221304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

IR oS FEA 5X10° F FAET &, & AT TR F FT For?
Options:

| v TEHEAR HHT TR

, x 3 AT TR
. 5 TSI HHT FR
L % HEY FAT TR

Question Number : 45 Question Id : 7246221305 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
For the fluid flow in open channels, the critical depth (h,) is given by:

Options:

gE 1},‘3



Question Number : 45 Question Id : 7246221305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
ol JAal # 59 ¥ag & T, Fias M@ (he) fhEs ganr g S 82

Options:

Question Number : 46 Question Id : 7246221306 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
In the case of fluid flow in open channels, the expression for loss of energy due to hydraulic jump (hy ) is given by:

(Where, d; and d, are depth at upstream and downstream respectively.)
Options:

[d'l = dz]g
L% Adid,



[dz o= d1]2
o x  4did,
[d'l = dz]z
5% Adid,
[dz = d1]3
4w Adid,

Question Number : 46 Question Id : 7246221306 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
gel AFell H g Fag & HFEA H, FAT coffer @sgifaw F9) (hy) & HROT FeA &S F faw
U=k F4T gEm?
(78T, dq 3R dp FET: UR-SfAger 3R AR # TS )
Options:
[di_dz]3
| & 4did,

[dz = di]z
o w  Adid;

[d1 = dz]z
5% 4did,
[dz = di]g
L v Adid,

Question Number : 47 Question Id : 7246221307 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Overall efficiency of hydraulic pump (1) is given by:

Options:

. « Shaft power / Water power

> % Shaft power X Water power

- w Water power X Shaft power



4 % Water power / Shaft power

Question Number : 47 Question Id : 7246221307 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
gIsgITore 99 (o) F P ZaTar ThEW AT ST 82

Options:
| MHE UTER [ Fe ofad

> % TS 9IET X el ofad
- % A AT X MFE 9ET

4 % ST ATEd / ATHE T=T

Question Number : 48 Question Id : 7246221308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
For the masonry arch bridge, the economical length of one span usually is: (H is height of arch in meter.)

Options:
, % 15H

>« 2.0H

Question Number : 48 Question Id : 7246221308 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
foemg =9 g (FFad 3 B9 & v, amalk W oE T # wrer wEs et 2 (H e @
FeTg W HeT H gurer §)

Options:

. % 1.5 H
- ¢ 2.0 H
- % 25 H

. % 3.0H



Question Number : 49 Question Id : 7246221309 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The maximum rise in water level near a bridge site is an indication of:

Options:

, w Scouring

- % Discharge
5 « Afflux

4 = Velocity

Question Number : 49 Question Id : 7246221309 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
fardly g7 T WEe F 9w 9 F T FH #Owaa giE e wea 32

Options:

| x HTAER(FRIT)

S_JH@EH

4.%3?4"‘7

Question Number : 50 Question Id : 7246221310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Identify, from the options, the non-automatic rain gauge used for measurement of rainfall.

Options:
, % Weighing bucket rain gange

-~ % lipping bucket rain gauge
Symons rain gauge

3

, » Float type rain gauge

Question Number : 50 Question Id : 7246221310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 51 Question Id : 7246221311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The flow in soil is said to be laminar as long as the velocity of the flow is less than a lower critical velocity (v.), when
Vel Py

is in terms of Reynolds number.
ng

Options:
1 % lessthan 2000

> % more than 2000

-  €qual to 2000

4 % equalto0

Question Number : 51 Question Id : 7246221311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

ST 7 9ag & ey (ATHAR) Fer Jar € F9 9% & gae & afg w7 F=aE 39 (vo) ¥ FH

v . ; . Ved
9 {ATesd &l #G‘cﬁﬁ'ﬁ'i}—g% gl

Options:

. % 2000 & &F
- » 2000 & &
5 « 2000 ¥ e

Question Number : 52 Question Id : 7246221312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



A flow net cannot be utilised for which of the following?

Options:
, w Determination of seepage

> % Determination of seepage pressure
- » Determination of hydrostatic pressure

4 « Determination of density of soil layers

Question Number : 52 Question Id : 7246221312 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

foafafag & & 9 & 3T yaig 3T &7 399197 J87 ohaT =7 Thar 87

Options:

, » foETee # foror

> « TAEICH gara F fareor

- » GIEUfO® gF & TR

, v T Ra F uee Fr fereor

Question Number : 53 Question Id : 7246221313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
In the Mohr’s circle. the maximum shear stress Tyy5x is equal to % . and it occurs in plane with an angle of « as:

Options:
1 % '5[]'0

Question Number : 53 Question Id : 7246221313 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Options:

% 60°
, & 45°
s 90°

. % 30°

Question Number : 54 Question Id : 7246221314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
In stability analysis of infinite slope, for cohesionless soil, the factor of safety (F) against sliding is given by (where ©f

is shear strength and T is shear stress):

Options:

L &

[0
4
o

s % If X1

42 If T

Question Number : 54 Question Id : 7246221314 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
FINTAT Toa % TR Taeewor &, FEawee Hel & Tov, fhaes & g s (F) FEs gan
2T AT & (FET of 9w90T efed 3K v Huw9uT g 8):

Options:

1.¢ T

5 % If X1

m of BT

Question Number : 55 Question Id : 7246221315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.33
In settlement of footing. under immediate elastic settlement. the influence factor (I,,) for circular shape rigid footing is:

Options:
1 ® 1.0

o 0.8
z ® 0.9

4 % 0.64

Question Number : 55 Question Id : 7246221315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
deerlel AER T9e (TATiEcs HeaHe) & dgd, Bied Heade (TG f9ee) H, e #oR 95
(ST %fee) &1 qerma aures (1) 2T grem?

Options:

. % 0.64

Question Number : 56 Question Id : 7246221316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Downward drag acting on a pile, due to the downward movement of the surrounding compressible soil relative to pile,
is called:

Options:
1 # Positive skin friction

> of Negative skin friction
5 % Settlement

4 % Sunken support

Question Number : 56 Question Id : 7246221316 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

aiA FNET e F W AT F FHROT S HAOT &7 T oI 1@ T FWOT HT FAT FET AT 87

Options:



| % UHATCH® 3INEAT YT

. v FUMcH® 3UREAT T¥0T

5 % Togere

4 % SOHIA HTER

Question Number : 57 Question Id : 7246221317 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
According to Feld’s rule. the load capacity of each pile is reduced by
in each diagonal or straight row of which the pile in question is a member.

on account of the effect of the nearest pile

Options:
1 o 1/16

o R 1/4
s % 1/12

4 B 1/8

Question Number : 57 Question Id : 7246221317 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Pres & FuAeaR, Tos T (W) T A &G TodE faeur a1 Eell g # fAeean T F we
& 0T T FH & I &, ForgeT 9eArEae 2T (q5e) &7 2T 2

Options:

. v 116

, % 1/4
2 % 1/12

L% 18

Question Number : 58 Question Id : 7246221318 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Economic survey of a proposed road project includes a detailed study of;
Options:

, w Soil subgrade characteristics



- % Sources of income and estimated revenue

- % Origin and destination studies

4  Agricultural and industrial products available in the area

Question Number : 58 Question Id : 7246221318 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
SEdIed 5% IRASAAT & A F=e0r H hae fSrga segas anfae 87

Options:

| » FET 3TAUT fRivare

L T AT T & Hid
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Question Number : 59 Question Id : 7246221319 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
There are some undesirable elements to be avoided while fixing the alignment:

Marshy land
Religious places
Waterlogged areas
Costly structures

OO0 W p

Which of these points represent those undesirable elements?
Options:

, ®= ABandC

, % B.CandD

5 A B.CandD

4 % BandD
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Correct : 1 Wrong: 0.33
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Question Number : 60 Question Id : 7246221320 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The structural damage caused by an axle load varies as the power of its ratio to the standard axle load.

Options:
1 % first

- % second
3 # third

4 « fourth

Question Number : 60 Question Id : 7246221320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Options:
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Question Number : 61 Question Id : 7246221321 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
The minimum values of coefficient of friction, desirable along longitudinal direction and lateral

direction, are respectively.

Options:
1 « 0.35and 0.15

> % 0.15 and 0.35
z % 0.5and 0.3

4 ® 0.3and0.5

Question Number : 61 Question Id : 7246221321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
TeoT il_'-‘li% & FgAdH T, Hﬁﬁﬂﬁ‘ feam 3T 9reT fEam & T FHM: Sds IIGAT 2
Options:

. «» 0.35 3T 0.15

. % 0.15 3T 0.35
- » 05 3T 03

4 % 03305

Question Number : 62 Question Id : 7246221322 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
The minimum skid resistance number (SN) for Indian roads to have a level 1 serviceability indicator is:

Options:
1 o 50

A 40

W
e
LN
LA

o
®
I~
Lh



Question Number : 62 Question Id : 7246221322 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

AT TSt o v wgaan e gferter &1 (SN) 9 1 Fanefiedr has 9= & e faear
g =fge?

Options:

1 50‘
- % 40‘
o ® 35

4 # 25

Question Number : 63 Question Id : 7246221323 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Which of the following is one of the factors influencing the provision of camber?

Options:

, w Topography

> « Amount of rainfall

- % Sub-grade characteristics

4 w Drainage

Question Number : 63 Question Id : 7246221323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0.33
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Options:
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Correct : 1 Wrong: 0.33



The minimum width of carriageway for a two lane road without raised kerbs is:

Options:
1 % 7.5m

I 4 7.0m

Question Number : 64 Question Id : 7246221324 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
T 9t & 33T g A ATl @5 * o g AR H w7 gaaH =Sy fhadr gelr aRe?
Options:

Question Number : 65 Question Id : 7246221325 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The desirable slope for highway embankment in accordance with safety conditions is:

Options:
1 B l1in2

2_,;;-5‘1]'.113

o R lin4d

L]

4 B 1in 2.
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Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
g Tufaat F sgar ToAnT aeay & v aoaT gae foaer g =fee?

Options:

% 2H 1




=3 7 1
3% 4 H1

4% 25 H 1

Question Number : 66 Question Id : 7246221326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The reaction time of drivers considered for calculating stopping sight distance and overtaking sight distance is:

Options:
1 % 2 seconds and 2.5 seconds

.5 seconds and 2 seconds

ra
S
I

I

seconds and 9 seconds

4 # 9 seconds and 2 seconds

Question Number : 66 Question Id : 7246221326 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

T T RBET (ST 737 &) 3R e wse Bedw (R v ) i v = & e
ATtk & NUa TEH (FAfhar FHT) FIT g ge?

Options:

. % 2 s A 2.5 Wk
- v 2.5 UHE 3T 2 THE
5 % 2 UFs HR 9 TeRE
4 % 9 THE IR 2 THE

Question Number : 67 Question Id : 7246221327 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The expression used to calculate the safe allowable speed at a curve of radius ‘R’ is:

Options:
| ¢ V27.94*R)

» & V(29.74*R)



. % V(4297*R)

V(24.97*R)

Question Number : 67 Question Id : 7246221327 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

IEET IS #Hﬂwm?ﬁﬁmmﬂ?ﬁvmmdlﬁ AT U= T | &7
Options:
| v V@7.94R)

, % V(29.74*R)

x V(42.97*R)

i

V(24.97*R)

Question Number : 68 Question Id : 7246221328 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
The equation to determine the superelevation at 75% design speed is:

Options:

1% e=(v¥ gR) -

e=(V¥ 127R) -

2

5 €=(V¥225R)
_ w2 54

i e = (V= 255R)

Question Number : 68 Question Id : 7246221328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
75% fE=tmset 1fd W g (7<) Frs fouila &&= & forw wefesor = 82

Options:

(v2/ gR) - f

b
D
1

, x €= (V2 127R) - f



= (V4 225R)

@
|

= (V24 255R)

i
®
D
|

Question Number : 69 Question Id : 7246221329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
[RC-recommended ruling gradient value on a mountainous terrain is:

Options:
. % 1in30

Question Number : 69 Question Id : 7246221329 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
IRC-317eifea wfoier 3fBve S (Favrar Fea) 5t @ somes & fraeh g amfge?
Options:

; % 30 F 1
> 20 H 1
- % 167 7 1

4 % 25 H 1

Question Number : 70 Question Id : 7246221330 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The permissible Cant deficiency for speed of upto 100 kmph on a Narrow Guage track is:

Options:
1 & 3.8cm

~ % 3.8mm

= % 5.1cm



Question Number : 70 Question Id : 7246221330 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

TF AU (FPIOT) A g W 100 BT @ F a1l & v g vaueae av (FfRfiee Fe
T Fa=T g oifge?

Options:
1« 3.8 cm

> # 3.8 mm
2 % 5.1 cm

4 % 5.1 mm

Question Number : 71 Question Id : 7246221331 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
The minimum ductility range prescribed for bitumen to be used in pavement construction is:

Options:
1 % 75-100cm
> o 50-75¢cm

= % 50-60cm

4 % 5-60cm

Question Number : 71 Question Id : 7246221331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

Feary AT & 3wt fFv S aer Rgaw F v Tl sgaas aeme & @A #2982

Options:

1 # 75 - 100 cm
> « D0 - 75 em
z % 50 - 60 cm

4 % 5 -60cm

Question Number : 72 Question Id : 7246221332 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.33

Toughness property of an aggregate can be tested by adopting:
Options:

, » Aggregate crushing strength test

.  Aggregate Impact test

- » Los Angeles Abrasion test

4 = Angularity number

Question Number : 72 Question Id : 7246221332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
FuTE (VERIE) & FORAT 0T FT GHET0T RFEEHT oA FI AT ST TR £7

Options:

|« Tura s (@) afes e

Question Number : 73 Question Id : 7246221333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The unit standard load. in I‘:g.-“'cm{ for a standard penetration of 2.5 mm in CBR test setup is:

Options:
1 ® 1370

L

5 % 205
3¢ 70

4 % 105

Question Number : 73 Question Id : 7246221333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

CBR uw{la7uT TeaT & 2.5 mm &I A U & T, S8 A+ &K kglem? & a1 §7

Options:



. % 1370
- % 2055

. % 105

Question Number : 74 Question Id : 7246221334 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

The desirable thickness of the bituminous mix specimen to be subjected to Marshall Stability Testing is:
Options:

1 « 63.5 mm

> % 65.3 mm
= % 68.3 mm

4 % 0638 mm

Question Number : 74 Question Id : 7246221334 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Arder Feuar SdeTor (AT wefafedt tfee) & aga fefaew Bsor aam & aoeia Aies e g
e

Options:

1 « 63.5 mm

> % 65.3 mm
z % 68.3 mm

4 % 63.8 mm

Question Number : 75 Question Id : 7246221335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

The minimum desired Marshall Stability value for a dense bituminous mix to be used in bituminous concrete surface
course is:

Options:

1 900 kg



% 500kg
. % 700kg

, % 800kg

Question Number : 75 Question Id : 7246221335 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

fagfaera sefic wag # 39arT fFe o= are o fagfAaw BT & faw =gaaw aifea ane ferar
AAF FT 87

Options:

, v 900 kg
. % 500 kg

. x 700 kg

, % 800 kg

Question Number : 76 Question Id : 7246221336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Which of the following is not an example of regulatory sign?

Options:
; w» Stopsign

> w Give way sign

5 » One-way sign

4  I-intersection sign

Question Number : 76 Question Id : 7246221336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

ST & @ S5 o Suws o3 T 5 ST A6 20

Options:

| % Tl T Thd



Question Number : 77 Question Id : 7246221337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Which is the latest Indian standard drinking water specification that is followed?

Options:
1+ IS 10500 : 2012

> % IS 10500 : 2014
= % IS 10500 :2015

4 % IS 10500:2016

Question Number : 77 Question Id : 7246221337 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

FaAdH HET AHS 9O afader & ar 87
Options:

.« IS 10500 : 2012

, = 1S 10500 : 2014
. = 1S 10500 : 2015

. = 1S 10500 : 2016

Question Number : 78 Question Id : 7246221338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Which of the following is not a method of distribution of water?

Options:
, w Gravity system
~ % Pumping system

5 » Combined gravity and pumping system



4 Pressure system

Question Number : 78 Question Id : 7246221338 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

feafef@a § @ Fi9 o 9= & FoRor #r @AfYr =78 27

Options:

law&wmﬁr

o % ST gUTeN

égcm dq__l;brﬁtlch'é'lul T 9feeT gumer

L

4 v S&Td JUTelr

Question Number : 79 Question Id : 7246221339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
The condition in which soil gets clogged by preventing oxidation due to continuous application of waste water is called:

Options:
1 % Aerobic sickness

> % Soil sickness

5 o Sewage sickness

4 % Land sickness

Question Number : 79 Question Id : 7246221339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Fufiree 7 F FIAT 39AET F FHOT HFERT Vb & Tow B F 3ave BT Fr Far = Far 22

Options:

| TaET (QUTEH) STAET

i TeT SENT

- JTgdHAe SHNT
4 % gﬂﬁa“mﬁ’r



Question Number : 80 Question Id : 7246221340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Which of the following is an attached growth process used for treating waste water?

Options:
, « Rotating biological contactors

> w Aerated lagoons

5 = Activated sludge process

4 w Sludge digestion system

Question Number : 80 Question Id : 7246221340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

I9RAST ST I AT F & 0T Traeag § @ 39 d@F Joea Fam gar 72
Options:

|, ot e

o x Mg IS (TALLE oIeA)

. » T HEF Fienar

4, % THIEIS UTES FOTer

Question Number : 81 Question Id : 7246221341 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Winkler’s method is used to determine:
Options:

1 % Methane content of waste water

- » Biological Oxygen Demand (BOD) of waste water
5 % Chemical Oxygen Demand (COD) of waste water

4 « Dissolved Oxygen (DO) content of waste water

Question Number : 81 Question Id : 7246221341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



e Fr B raer [T &= F Be 39w &1 FJdr 872

Options:

| % 3ITErsT I H #@rdew fr A

L« HIMSE ST & S et AT (BOD)

, « HURISE el & TEEfAE AdFdS AT (COD)

, » ¥ 5o & faufed s (DO) 3

Question Number : 82 Question Id : 7246221342 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

Diagrams designed to show the distribution of wind direction experienced at a given location are called:
Options:

1 # Wind flower

E

> « Wind rose

&,

- % Wwind path

Wind index

o
u

Question Number : 82 Question Id : 7246221342 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

e ffr o1v rure 9T g Y fear & o # Rue F v Berea v s 3m@t $r = war S g2

Options:

| & &8 wemeR

o v 5 A
o ® ﬁLS'qTiT

P

Question Number : 83 Question Id : 7246221343 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Which of the following is not a plume behaviour?

Options:



i\l Gaming

- u Looping

5 % lrapping

, » Fumigation

Question Number : 83 Question Id : 7246221343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
fr=fofea & & #ia a1 o= (@) ==er 78 872

Options:

1.¢fﬂﬁ7|'

L

o B o,

3 % ST

 ggfaEee
e R

Question Number : 84 Question Id : 7246221344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Air pollution disasters in India usually take place during which season of the year?

Options:
1 % Summer

> o Winter
= % Pre-monsoon

4 % Monsoon

Question Number : 84 Question Id : 7246221344 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
HRd H A JEWUT HIET HAN W Fw Ates & glva @ 82

Options:

1 % T



4 % N

Question Number : 85 Question Id : 7246221345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

An engineered facility for the disposal of municipal solid waste by dumping in soil is called:
Options:

1 % Incineration

o « Sanitary landfills
5 » Shredding

4 % Profuse landfills

Question Number : 85 Question Id : 7246221345 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
T gShfaTE (TR ghe, fwd gew wRflve dftE 3R (@ wefe) # fed & §w =
3T AU fFar Sar &, 39 F7 wEr Sar 87

Options:

1_%;33@“01-

. v TET oisfhal
S_éﬁm

4 % N o=fher

Question Number : 86 Question Id : 7246221346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The total amount of moisture that can be retained in a waste sample subjected to downward pull of gravity is called:

Options:
, « Field capacity

- % Moisture content



5 » Specific weight

4 % Hydraulic conductivity

Question Number : 86 Question Id : 7246221346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

TICATEHNUT 3 A BT AT FiEe & el 3l Fe F 9% S et arelr FA H Hel A B

FET 1T 87
Options:

o # e

5 % oTHT I AT

s x (99 FFA

, % S FaTfgdl

Question Number : 87 Question Id : 7246221347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Which of the following is not a process for the chemical transformations of solid waste?

Options:
1 # Combustion

> % Gasification

= u Pyrolysis

4  Composting

Question Number : 87 Question Id : 7246221347 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Options:
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Question Number : 88 Question Id : 7246221348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Which of the following is not caused due to the effect of noise?

Options:
1 « Alzheimer’s disease

> % Sleeplessness

= % Communication interference

, » Hearing loss

Question Number : 88 Question Id : 7246221348 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

S ¥ FT, AR F GHE F FROT A&7 27 gar?

Options:

| v HESEAT U
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Question Number : 89 Question Id : 7246221349 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
The energy transmitted by a sound wave in the direction of its propagation is called:

Options:

, % Intensity of sound

> « Power of sound

- # Frequency of sound

4 % Period of sound



Question Number : 89 Question Id : 7246221349 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

IS T B e F IfF Tt Inr ywfia FAT Fr =27 FwaEr Jar 87
Options:

> v A Fr aEa

. w ST T g

4 # &3 $r 3

Question Number : 90 Question Id : 7246221350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
As per Environmental Protection Act.1986, the noise level in the industrial area during day should not be more than:

Options:
1 « 75dB

> % 65dB

Question Number : 90 Question Id : 7246221350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
TEEROT FIETOT HAEEA, 1986 F AR, HeDRE &7 # BT F 7HT o0~ A § =y 74 @
=nfgw?

Options:

.« 75 dB
. % 65 dB
s % 45 dB

. % 55 dB
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Question Number : 91 Question Id : 7246221351 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Select the most appropriate option to fill in the blank.

It was late, but since moon was shining in the sky we could find our way in forest.
Options:
| % the ; a

5 % a ; the
5  the;the

4 % Noword needed ; the

Question Number : 91 Question Id : 7246221351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Select the most appropriate option to fill in the blank.

It was late. but since moon was shining in the sky we could find our way in forest.
Options:

| % the; a

5 % 83 the

5  the; the

4 % howord needed ; the

Question Number : 92 Question Id : 7246221352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



Select the most appropriate option to fill in the blank.

For the last two months, they to decipher the writing on the walls of the ancient temples.

Options:
1 ® t]:'}'

> % tried
= % had tried

4  have been trying

Question Number : 92 Question Id : 7246221352 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Select the most appropriate option to fill in the blank.

For the last two months, they to decipher the writing on the walls of the ancient temples.

Options:

1 = t]ﬁ'}'
> % tried
3 % had tried

4  have been trying

Question Number : 93 Question Id : 7246221353 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Select the most appropriate option to fill in the blank.

Where did you have your early education? the Delhi Public School.
Options:

1 % In

- % From

3. v Al

4 % On

Question Number : 93 Question Id : 7246221353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.33
Select the most appropriate option to fill in the blank.

Where did vou have your early education? the Delhi Public School.

Options:
1 % In

-~ % From
= o At

4 % On

Question Number : 94 Question Id : 7246221354 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Select the most appropriate option to fill in the blank.

The guard found a key lying on the road of the colony. Shikha said it was
Options:
1 % her

> o hers
3 # our

4 % US

Question Number : 94 Question Id : 7246221354 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Select the most appropriate option to fill in the blank.

The guard found a key lying on the road of the colony. Shikha said it was
Options:
1 % her

> « hers
% % our

4 % US

Question Number : 95 Question Id : 7246221355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



Select the option which means the same as the given word/ group of words.

go about cautiously looking for a chance to get food (as wild animals do)

Options:
1 % slide

% growl
- % wade

4  Prowl

Question Number : 95 Question Id : 7246221355 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Select the option which means the same as the given word/ group of words.

go about cautiously looking for a chance to get food (as wild animals do)
Options:
1 % slide

> w growl
- % wade

4  Prowl

Question Number : 96 Question Id : 7246221356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Select the antonym of the given word.

REGULAR
Options:
| « irregular

- % imregular
« disregular

3

4 % unregular



Question Number : 96 Question Id : 7246221356 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Select the antonym of the given word.

REGULAR
Options:
| « irregular

- u imregular
5 w disregular

4 % unregular

Question Number : 97 Question Id : 7246221357 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Select the correctly spelt word.

Options:
1 #% remembrence

> % remambrance
3 « remembrance

4 % rememberance

Question Number : 97 Question Id : 7246221357 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Select the correctly spelt word.

Options:
1 # remembrence
> % remambrance

3 « remembrance

4 % rememberance

Question Number : 98 Question Id : 7246221358 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



In the following sentences four words or phrases have been underlined. One of them is incorrect. Choose the incorrect
word or phrase from the given options.

Although he is nearly forty. he cannot be called. by any means, a maturing person.
Options:

, » Although
> u isnearly forty,
- % Dy any means,

4  @maturing person.

Question Number : 98 Question Id : 7246221358 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

In the following sentences four words or phrases have been underlined. One of them is incorrect. Choose the incorrect
word or phrase from the given options.

Although he is nearly forty. he cannot be called. by any means, a maturing person.
Options:
, w Although

-~ u isnearly forty.
5 % Dy any means,

4  @maturing person.

Question Number : 99 Question Id : 7246221359 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Select the correct passive form of the given sentence.

People have been ignoring the role of women in national development for ages.
Options:

. w Therole of women in national development is being ignored for ages.

-~ % The national development in the role of women has been ignored for ages.

- % Therole of women in national development will be ignored for all ages to come.

4 « Therole of women in national development has been ignored for ages.



Question Number : 99 Question Id : 7246221359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Select the correct passive form of the given sentence.

People have been ignoring the role of women in national development for ages.
Options:
; w Therole of women in national development is being ignored for ages.

> % The national development in the role of women has been ignored for ages.

- % Therole of women in national development will be ignored for all ages to come.

4  Therole of women in national development has been ignored for ages.

Question Number : 100 Question Id : 7246221360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Arrange the fragments given below to form a meaningful sentence.

A. have for the most part

B. people of Ethiopia

C. lost touch with the peasantry

D. who are trying to modernize their country

Options:
; ® BCAD

> « BDAC
- % BACD

4 % BADC

Question Number : 100 Question Id ;: 7246221360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Arrange the fragments given below to form a meaningful sentence.

A. have for the most part

B. people of Ethiopia

C. lost touch with the peasantry

D. who are trying to modernize their country

Options:
, % BCAD



> « BDAC

3 % BACD
4 % BADC
Cnaantitative Aptitude
Section Id : 72462248
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 15
Number of Questionsto be attempted: 15
Section Marks: 15
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 72462248
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 7246221361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

The sum of three consecutive odd numbers and three consecutive even numbers together is 471. Also, the largest even
number is 15 more than the largest odd number. What is the sum of the smallest odd number and the smallest even
number?

Options:
1 % 151

> o 153
3 % 155

4 B 157

Question Number : 101 Question Id : 7246221361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

e FARTE A seanatt IR 37 FART §F7 FEEt & Fo a7 471 § Y @, 394 § §E a9
HH TCOT §9W 93 fwR §Ear ¥ 15 39 g mew ol Bvs g 3R 5Ew ol 95 @S & AT
T 32

Options:

% 151



. 153
- % 155

4 % 157

Question Number : 102 Question Id : 7246221362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

In an examination, 75% students passed from school A. The number of students appeared from school B is 20% more
than that of A and the total number of students who passed the examination is 40% more than the number of students
passed from A. What is the percentage of students passed to those who appeared from B?

Options:
1 % 62.5

o R 65

i FBTS

Question Number : 102 Question Id : 7246221362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

T ST A, TR A § 75% Tzl o gul Ther B @ wdien A 9% et & gear wmer A @
e F 85 TSt Fr FEar § 20% HUw g HR Tl # 9 gu e & per aEa whe A
#w?%@ﬁﬁﬁmﬁao%mﬁm%lqﬂwﬁwgﬁmﬁﬁaﬁgﬁm,Es@rq'i’raﬂfr
3 Remfiat & dew &1 s v §7

Options:

| % 625

. v 875

Question Number : 103 Question Id : 7246221363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The percentage profit earned by selling an article for ¥ 2076 is equal to the percentage loss incurred by selling the same

article for < 1524. At what price should the article be sold to earn a profit of 33 3 %?

Options:
1« T2400



5 % T 2500
3 % T 2700

4 % T2860

Question Number : 103 Question Id : 7246221363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Waﬁraﬁrfzmsﬁaﬂﬁqwﬁ?mw,maqgraﬁr?wmﬁaaﬁwmﬁmaﬁ#
S 31 TG F 0 Jeg W A= S, Swd 332% & A 9 @

Options:

| v T2400
. % T 2500
5 % 2700

. = T2860

Question Number : 104 Question Id : 7246221364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

A certain sum amounts to T 6352.50 in 2; vears at 10% p.a. compound interest, interest compounded vearly. What will
be the simple interest on the same sum for double the time at the same rate of interest?

Options:
;% 2400

> % T 2480
s « T 2500

4 % T 2560

Question Number : 104 Question Id : 7246221364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

FIg TR 10% I Torgfe arer & 22 a9 & T6352.50 3 e § Siafer oot e Fafoa g1 3§
T W 398 @ FAT F T 380 =7 @ W wuRor s feaer gem?

Options:

| % T 2400



. % T 2480
- « T 2500

. % T2560

Question Number : 105 Question Id : 7246221365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
2 a3

3
Thevalieof — ———F——+F =
V6—v3  48—12 2 ":3 4 8}

is closet to:

Options:
1 ® 7.8

Question Number : 105 Question Id : 7246221365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

N2 M3, 2 o OeRRe S e S

Ve—/z a1z 2 (3—/8)

Options:

Question Number : 106 Question Id : 7246221366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The ratio of the number of boys in schools A and B is 5 : 7 and the ratio of the total number of students in Aand Bis 3 : 4.

If the number of girls in B is equal to 665 % of the total students in B, then what is the ratio of the number of girls in A and B?

Options:
1 % 8:11

> #% 43:46



= % 33: 56

4 o 43:56

Question Number : 106 Question Id : 7246221366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Thet A IR B & TE A FEI A 5 7 F AU g AR A T B # For eIt fr et #3: 4
F ¥ §1 IR B 7 wsfoal f e B A 3o Femfid # vmm A 66-% ¢ A A B A
FsfRal @Y TET H FAT IS 87

Options:
L% 8: 11

% 43 : 46
- % 33 : 56
4 v 43 : 56

Question Number : 107 Question Id : 7246221367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
A, B and C enter into partnership by investing capitals in the ratio % : é . After 4 months. A withdraws 50% of his

capital and after another 8 months, profit of T 20240 is distributed between them. What is the difference between the
shares of A and C in the profit?

Options:
1« T 1840

> % T 1860
2 % 1920

4 % T 1980

Question Number : 107 Question Id : 7246221367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

A, Baﬁwcﬁwwwaﬂﬁ?aﬂ?mwlii#mr—rﬁﬁéﬁrm%ialm#trﬂﬁ
A FT e @ 50% e @ ﬁzmsamqaamgcr%zozm#gmmﬁmmﬁm
ST gl o # 7 A 3t C @ S afEr B 3aH Fm s 22

Options:

, v T1840



., % T 1860
- % 1920

4 % T1980

Question Number : 108 Question Id : 7246221368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Two trains x and v start at the same time, x from A to B and the other from B to A. After passing each other x and v take

8§ hours and 4% hours respectively to reach their destinations. If the speed of v is 35 km/h, then what is the speed
(in km/h) of x ?

Options:

1 ® 28

o & 23

Question Number : 108 Question Id : 7246221368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

2 TEENfEAT « TUT ¢ U & FHY 9T TAAT HNH T g, TEOEr x, AT B Fraw vy, BT ASH
3| TF gE FT IR I & TR, x AR p 3 Taeq B ;T A W HFAE 8 60 R 4”2 W A
9ge Sl g1 AfE y e 35 kwm §, & x F AT (kmh H) FT R

Options:

Question Number : 109 Question Id : 7246221369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

A, B and C can do a work in 36, 72 and 54 days respectively. They started the work together but A left 8 days before the
completion of the work and C left 12 days before the completion of the work. In how many days was the work
completed?

Options:



Question Number : 109 Question Id : 7246221369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

A, B TuT C f5ar F1 # Fae 36, 72 3R 54 G § X TFd &1 381 o FIH H IR &mar
AfthT A F1F & ¥ 8 & wger & =ew wam 3R C w1 W g ¥ 12 G vger F S Fer
TN g FH A fow T A o gam?

Options:

1 ® 21
o ® 20‘
3 24

g4 25

Question Number : 110 Question Id : 7246221370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
If5x2 +y2+2z2+5=2x(y+2)+ 4z then the value of (4x + 2y — 2) is:

Options:
1 ® 0

Question Number : 110 Question Id : 7246221370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
OfE 5x2+y2+z22 +5=2x(y +2)+ 4z g ar(4x+2y—z) & AF FIT g&N?
Options:



Question Number : 111 Question Id : 7246221371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
4 litre of a solution having 10%o acid was mixed with 5 litre of a solution having 16% acid. Six litre of pure acid was
then added to the resulting solution. The concentration of acid in the final solution is:

Options:
1 o 48%

> % 50%
5 % 54%

4 % 60%

Question Number : 111 Question Id : 7246221371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
10% 35T aTer 4 T O F 16% HFaarel 5 ey O H HIr 7[37| 38s 91 39 Jeor #
6 #irex Y= 3Fr o femar | 3faw oo 7 wFer Fr wear Saer gEfe

Options:

| v 48%

., % 50%
- = 54%

L = 60%

Question Number : 112 Question Id : 7246221372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



A, B and C are three partners in a business. B started the business and A joined him afier 2 months with an investment

which is 20% more than that of B. C joined them later. The investment of B is 2 of the investment of C. If in the annual
profit, share in profit of C is g of the sum of shares of A and B, then for how long was C’s investment in the business?

Options:
1 % 4 months

4% months

= % 5 months

4 « 6 months

Question Number : 112 Question Id ;: 7246221372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
T OO H A, B 3 C 37 wEier §1 B o s HR fBar ¥ 2 #w 9w A, B & 20% U
IS % WY 9N # dEafed g ag 7 C off @R # @Al & B & FEy C & FEwr

%E#w%aaﬁmﬁmaﬁ:ﬁr,CH%@T,AWB#%@#W#&#W%,F#W:&
C & =y GFaar 33 = @

Options:

1 ® 4 ATE

4= AR
o ® 2

z ® 5 AT

L v 6 FE

Question Number : 113 Question Id : 7246221373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
If Satya travels at 30 km/h. she is late by 20 minutes to her office, whereas if she travels at 45 km/h. she is early by
10 minutes. Then at what speed should she travel such that she is neither late nor early?

Options:
:2 i
. % 38; km/h

382 km/h
. 7

= % 36km/h



4

Question Number : 113 Question Id : 7246221373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Ifg | 30 kmfheﬁrwzﬁrwm%,a#agmﬁaﬁﬁm%ﬁm%aﬁﬁqgaﬁmsﬁra—g
45kmfh#rm@rwm%,Eﬁﬁﬁmwﬁmqﬁdﬁmﬁr%raﬁﬁmw#waﬂ,
ﬁﬂﬁ%ﬁfﬁmaﬁﬁ#qﬁﬂﬁmqﬁ?

Options:

38§ km/h

1

382 kmm
o 7

Question Number : 114 Question Id : 7246221374 Question Type: MCQ Option Shuffling: Yes Display Question Numbr ~ *“es
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
A and B can complete a work in 20 days whereas A and C can complete the same work in 30 days.”  one can
complete the work in 40 days. A. B and C work together for & days. C alone will complete the ren  .ng work in:

Options:
, = 12 days

> w 10days

5 16 days

Question Number : 114 Question Id : 7246221374 Question Type: MCQ Option Shuffling: Yes Dispiay «  tion Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

ARBRem s 20 RA AT FFa g I AR C Few 3 & & 30 &=
AWM AT L CHFAN A FA RN O RF T W TFar g1 A BIR C e 8 m ==
Fd &1 9T FH F C 3wken oo Gt & 9@ wEm?

Options:




Question Number : 115 Question Id : 7246221375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

Ifx2 —3x+ 1 = 0, then the value of x1° + — is:
x

10

Options:
L % 14408
> % 14638

s % 14642

4 o 15127

Question Number : 115 Question Id : 7246221375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
afe x2 —3x+1=0 & ar 1%+ & HAT FIAT g7

10

Options:

. % 14408

. = 14638

o % 14642

4 v 15127

Logical Abality

Section Id : 72462249
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 10
Number of Questionsto be attempted: 10
Section Marks: 10
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1



Sub-Section 1d: 72462249
Question Shuffling Allowed : Yes

Question Number : 116 Question Id : 7246221376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Select the option that is related to the third term in the same way as the second term is related to the first term.

Bunch : Keys : : Herd : ?
Options:
1 « Cattle

> % Fish
- % Lions

4 % Birds

Question Number : 116 Question Id : 7246221376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

37 RAwed # 99 F{ S AW 98 F &% 3W 9 ¥ FEiod §, o9 F guu 9e, e 92 ¥ weieg g

=0T =TT E;s? =3
Options:

1.o-"q3-£

g_ﬁm
T W Q}T

4_$qﬁ

Question Number : 117 Question Id ;: 7246221377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Select the analogous pair of words from the given options.

Loyal : Devoted
Options:
1 % Careful : Reckless

> of Diligent : Industrious

= # Idle : Rustic



4 % Useful : Futile

Question Number : 117 Question Id : 7246221377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

T 71T Rehedt # & T 2eaT &7 JIET F I3 H|

IFENR : AT
Options:

|« HIEY  SILETE
o o GRS e
= % 3TIET : {FET

4 ® mm

Question Number : 118 Question 1d : 7246221378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Find the odd word out.
Options:

1 % Stone

> % Rock
3 « Brick

4 % Pebble

Question Number : 118 Question Id : 7246221378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

TaEa # ¥ 3899 s 1 92T
Options:

1_%3':!?1]_{

- TEle

3.&‘%3—



Question Number : 119 Question Id : 7246221379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
If ‘S* means ‘addition’, ‘(@ means ‘subtraction’, ‘#’ means ‘multiplication’ and ‘©" means ‘division’, then

56C8#385@1="7

Options:
1 ® 26

o R 21

Question Number : 119 Question 1d : 7246221379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
afE 'S F Y AT, ‘@, I AT UEE g K W HT qOw ¢ AR O F Y AT g A
ST &1 #= Far gem?

56 €8 #3%85@1="7
Options:

1 #® 26

R 21

. ® 34

4 & 2D

Question Number : 120 Question Id : 7246221380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



Select the figure that correctly replaces the question mark *?* and completes the following image:

Options:
<<
1.9
<<
o R
<<
o % :
<
4 %

Question Number : 120 Question Id : 7246221380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



39 BT & 999 F A AT =Heg 2 F TE & ¥ Fraig #ar ¢ HR Wt o & o
FIAT 2

Options:
<<
1
<
> B
<<
3, *® *
<
4 ®

Question Number : 121 Question Id ;: 7246221381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
What will appear in place of the blank in the following series?

4,8,16,28, 64
Options:
i W

L

6

" 44



T B 46

4 B 40

Question Number : 121 Question Id : 7246221381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

fr=fafae smer # Rea e W Far smwen?

4.8 18 3a. B
Options:

>« 44

Question Number : 122 Question Id : 7246221382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Jawed scored 23 marks in a class test. Shakeel scored 1 mark more than Jawed. but 1 mark less than Azhar. Siraj scored
4 marks more than Aftab, and 2 marks less than Shakeel. Who scored the highest marks in the given test?

Options:
1 #% Jawed

> « Azhar
5 % Shakeel

4 w Sira

Question Number : 122 Question Id : 7246221382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

S A eI N qlie F 23 3 wed ) ke H e § 1 30 AU g gu e A ¥
1 37 & 9o gUI RS 1 A 4 3 Ao ged R AR eEhe @ 2 3 A 9ed el 39
e # HiwaH Heh fhwe 9vd ge?

Options:

| ® SR



Question Number : 123 Question Id : 7246221383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

If table is called oven. oven is called knife, knife is called toaster and toaster is called fridge, which of these will be used
to bake cakes?

Options:

1 % table

- % toaster
3 « knife

4 w Iridge

Question Number : 123 Question Id : 7246221383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
T TqF FT HGA FeT F1AT ¢, HGA F TG FgT AT g, Tk F AT Fal A g HR TR F A
FET AT & O FF F TS F AT FE F 399 Far aeen?

Options:

1_@:3%&?»1’

4_33%

Question Number : 124 Question 1d : 7246221384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
An address is given below which has been reproduced against the four alternatives. Of them, three have some mistakes
or the other, while one is exactly the same. Select the option that is exactly the same as the given address.

Prof. Sanjay Mirigal.
Reader’s Line,

Rose Avenue,

NIET. Farrukhabad,
Uttar Pradesh



Options:
Prof. Sanjay Mirigal,
Reader’s Line,
Rose Avenue.
NIET, Farrukhabad.,
1 « Ulttar Pradesh

Prof. Sanjay Mrigal.

Reader’s Line.

Rose Avenue,

NIET. Farukhabad.
- % Uttar Pradesh

Prof. Sanjay Mirigal.

Readers Lane.

Rose Avenue,

NIET, Farrukhabad.
% # Uttar Pardesh

Prof. Sanjay Mirigal,

Reader’s Line.

Roze Avennue,

NETT, Farrukhabad.
4 % Uttar Pradesh

Question Number : 124 Question Id : 7246221384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
A v gar femr T & oW AR Reeat & wry 9o R o @) s ¥ e 7 5o F 3o et
g, At T faehel A ¢ 30 fSoheq & 99w # A U a0 97 & THeH FAA ¢

Prof. Sanjay Mirigal,

Reader’'s Line,

Rose Avenue,

NIET, Farrukhabad,

Uttar Pradesh

Options:
Prof. Sanjay Mirigal,
Reader’s Line,
Rose Avenue,
NIET, Farrukhabad,

1 « Uttar Pradesh



Prof. Sanjay Mrigal,

Reader's Line,

Rose Avenue,

NIET, Farukhabad,
> % Uttar Pradesh

Prof. Sanjay Mirigal,

Readers Lane,

Rose Avenue,

NIET, Farrukhabad,
= = Uttar Pardesh

Prof. Sanjay Mirigal,

Reader’'s Line,

Roze Avennue,

NETT, Farrukhabad,
4 % Uttar Pradesh

Question Number : 125 Question Id : 7246221385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Shama is Sunita’s only sister. Sunita’s husband’s mother-in-law has a son, Shyam, whose daughter is Bhumika. How is
Sunita’s son Abhijeet related to Bhumika?

Options:
1 « Cousin

> % Brother
= % DBrother-in-law

4 % Nephew

Question Number : 125 Question Id : 7246221385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

AT, GeATar HT TFear Tga gl Gorar F 9fey Y W F TF 97 147 g, FwEr T i@ g g #7v
o A s & e w82

Options:

| T R AR T AT



2 % HE

4 8 ﬂFﬁET
General Awarensss

Section Id : 72462250
Section Number : 5
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 15
Number of Questionsto be attempted: 15
Section Marks: 15
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 72462250
Question Shuffling Allowed : Yes

Question Number : 126 Question Id : 7246221386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
A Portuguese explorer, Vasco da Gama, discovered sea route to India in:

Options:
1 % 1444

o> 1498
5 % 1731

4 % 1600

Question Number : 126 Question Id : 7246221386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

wgﬁaﬂzﬁm,m%ﬁé’rdum#,maﬂﬁ#ﬁv ﬁ'ﬂ'ﬂﬁrﬂ'ﬁ‘rﬁmﬁl

Options:

| % 1444

- 1498



s = 1731

. % 1600

Question Number : 127 Question Id : 7246221387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Which among the following stated that British India would remain under the administration of the company in trust for
the Crown until Parliament should decide otherwise?

Options:
1 # Government of India Act 1833

- » English Education Act 1835

= « Government of India Act 1853

4 % Government of India Act 1821

Question Number : 127 Question Id : 7246221387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

f=ofEa 7 o 5y 7 soafla ¢ & Rt ang, mene (F7E9) F faw F§ 3w st Fuar &
AT F d8d Fa 9, 9 oo TS F1s @uid F o 37

Options:

| % 8T TR HfafaTs 1833

. w ST frem wOFTsE 1835

- v HRT TR FRfaTs 1853

4 % 8T TR FARAfATa 1821

Question Number : 128 Question Id ;: 7246221388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Which among the following is a Rabi crop?

Options:
1 ® Jowar

> » DBajra

= #% Tur



4 « Wheat

Question Number : 128 Question Id : 7246221388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

T=fEa 7 3 sl @7 & Fr vaa T
Options:
1 B AL
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ISRO launched the first Indian satellite, Aryabhata, on 19th April

Options:
1 ® 1978
5 o 1975

=z W 1972

4 % 1981
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2 % 1972

, = 1981

Question Number : 130 Question Id : 7246221390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.33
of the members of the Rajva Sabha retire on the expiration of every second year.

Options:
;, % 1/4th

> » 1/5m

3. v 131

4 % l/6m
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Options:

L % 1/4

o % 1/5
3 @ 1/3

L% 1/6
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Which of the following is correct?

Options:
. « The Speaker of the Lok Sabha presides over a joint sitting of the two Houses of Parliament.

2%
The Chairman of the Rajva Sabha presides over a joint sitting of the two Houses of Parliament.

- % The Prime Minister presides over a joint sitting of the two Houses of Parliament.

4 % The President presides over a joint sitting of the two Houses of Parliament.
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1/6 of the total number of members of the Legislative Council of a State is:

Options:
, w elected by the members of the Legislative Assembly

-~ % nominated by the Chairman of the Legislative Council

-  nDominated by the Governor

4 = elected by the advocates of the State
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Which of the following countries is the largest producer as well as consumer of pulses?



Options:
1 « India

- % China
- % Pakistan

4 % SriLanka
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Why was second green revolution launched by the government?

Options:

. + To boost agricultural production with sustainable approach

-~ % 1o boost industrial production with sustainable approach
- % 10 boost tertiary sector contribution

4 % Toboost exports of the economy
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Chairman of the first planning commission of India was:

Options:
1 « Jawaharlal Nehru

- % Subhash Chandra Bose
- % Mahatma Gandhi

4 #% Narendra Sarkar
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Select the plants which do not have roots, stems. and leaves.

Options:
, w» Algae

> % Conifers



= % Ferns

4 « Mosses
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In which of the following we find Myocytes cells?

Options:
1 % liver

> « heart

s % €Yye

4 % Spleen
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Who has been credited deservedly as Father of the Computer. who is also the world-renowned inventor of Differential
Engine and Analytical Engine?

Options:

1 # John W. Backus

> % Harold Abelson

5  Charles Babbage

4 % Vinton Cerf
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Who is the author of the famous book ‘Urvashi’?
Options:

1 % Mahadevi Varma

- » Suryakant Tripathi Nirala

-  Ramdhari Singh Dinkar

4 % Yashpal
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Which deity is worshipped in Ramanathaswamy temple. Rameshwaram in Tamil Nadu?

Options:
1 # Lord Rama

Lord Krishna

ra
®

G

= « Lord Shiva

4 # Lord Ganesha
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